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Reacciones de Vínculo y Diagramas de Características. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Mmáx = - 80 KN x 4,4 m + 216 KN x 3,4 m – 40 kn/m x 3,4 m x 1,7 m = 151,2 KNm  
 

 

 

 

 

x = 3,4 m 

 

Esc. V  

100 KN=1cm 

Esc. M  

100 KNm=1cm 

364 KN 

2 m 8m 

3m 

q = 60 KN/m 

Esc. long. 1m/cm 

q = 40 KN/m 
 

216 KN 

1 4 3 5 6 2 

80 KN 
 

320 KN 
 

180 KN 
 

80 KN 
 

0 KN 
 

136 KN 
 

184 KN 
 

180 KN 
 

80 KNm 
 

270 KNm 
 

horizontal 

porque V = 0 

0 KN 
 

horizontal 

porque V = 0 

V3 = 136 KNm 
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Mmáx = - 80 KN x 4,77 m + 231 KN x 3,77 m – 40 kn/m x 3,77 m x 3,77 m/2 =  

             = 205 KNm 

Esc. V  

100 KN=1cm 

Esc. M  

100 KNm=1cm 

409 KN 2 m 6m 3m 

q = 60 KN/m 

Esc. long. 1m/cm 

q = 40 KN/m 
 

231 KN 

1 6 3 7 8 2 

80 KN 
 

240 KN 
 

180 KN 
 

80 KN 
 

0 KN 
 

151 KN 
 180 KN 

 

80 KNm 
 

270 KNm 
 

horizontal 

porque V = 0 

0 KN 
 

horizontal 

porque V = 0 

V3=151KNm 
 

2 m 

80 KN 
 

60 KN 
 

4 5 

89 KN 
 
149 KN 
 229 KN 

 

106 KNm 
 

V6 = 229 KNm 
 

x = 3,77 m 
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Mmáx = M2 = 84 KN x  2 m – 40 KN x 1 m = 128 KNm 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Esc. V  

100 KN=1cm 

Esc. M  

100 KNm = 2cm 

126 KN 2 m 3m 

Esc. long. 1m = 2 cm 

q = 20 KN/m 
 

84 KN 

1 6 3 2 

26 KN 
 

84 KN 
 

44 KN 
 40 KN 

 

128 KNm 
 

40 KNm 
 

horizontal 

porque V = 0 

0 KN 
 

V3=44 KNm 

 

2 m 

70 KN 
 

4 5 

86 KN 
 

106 KNm 
 

1 m 

 
V2=26 KNm 
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Mmáx = 176 Kn x 4,4 m – 40 kn/m x 4,4 m x 2,2 m = 387,2 KNm 

134 KN 

2m 
3m 7m 

q = 40 KN/m 

20 KN 

176 KN 

30 KN 

20 KN 

Esc. V  

50 KN =1cm 

Esc. M  

100 KNm=1cm 

30 KN 

104 KN 

60 KNm 

252 KNm 

104 KN 

176 KN 

1 m 
104 KNm 

Esc. N  

10 KN = 1cm 

20 KN 


